

$$C_{1313} = \alpha_2 C_{1212}, C_{1111} = (1 + \alpha_1) C_{1212}. \quad (1)$$

$$\alpha_2 > 0, C_{1212} > 0$$

$$\alpha_1 > -1$$

$$[\quad] \quad B$$

$$()$$

$$\Theta(r, z, t)$$

$$(r, \theta, z)$$

$$\frac{\partial^2 \Theta(r, z, t)}{\partial r \partial z} = b_r(r, z, t)$$

$$\frac{\partial \sigma_{rr}}{\partial r} + \frac{1}{r}(\sigma_{rr} - \sigma_{\theta\theta}) + \frac{\partial \sigma_{rz}}{\partial z} + b_r = \rho \frac{\partial^2 u}{\partial t^2},$$

$$\frac{\partial \sigma_{rz}}{\partial r} + \frac{1}{r} \sigma_{rz} + \frac{\partial \sigma_{zz}}{\partial z} + b_z = \rho \frac{\partial^2 w}{\partial t^2}$$

$$()$$

$$()$$

W u

$$(i, j = r, \theta, z), \sigma_{ij}(r, z, t)$$

:

$$\Theta \quad F$$

$$(i = r, z), b_i(r, z, t)$$

$$\rho$$

$$(v, w)$$

$$u(r, z, t) = -\alpha_3 \frac{\partial^2 F(r, z, t)}{\partial r \partial z},$$

$$w(r, z, t) = (1 + \alpha_1)$$

$$\times \left(\nabla_r^2 + \frac{\alpha_2}{1 + \alpha_1} \frac{\partial^2}{\partial z^2} - \frac{\rho}{(1 + \alpha_1) C_{1212}} \frac{\partial^2}{\partial t^2} \right) F(r, z, t)$$

Z

B

$$-\frac{1}{\alpha_3 C_{1212}} \Theta(r, z, t).$$

:[]

$$\begin{bmatrix} \sigma_{rr} \\ \sigma_{\theta\theta} \\ \sigma_{zz} \\ \sigma_{rz} \end{bmatrix} = \begin{bmatrix} C_{1111} & C_{1122} & C_{1133} & 0 \\ C_{1122} & C_{1111} & C_{1133} & 0 \\ C_{1133} & C_{1133} & C_{3333} & 0 \\ 0 & 0 & 0 & C_{1313} \end{bmatrix} \begin{bmatrix} \varepsilon_{rr} \\ \varepsilon_{\theta\theta} \\ \varepsilon_{zz} \\ 2\varepsilon_{rz} \end{bmatrix}$$

$$()$$

$$()$$

$$\alpha_3 = (C_{1133} + C_{1313}) / C_{1212}$$

$$()$$

$$\nabla_r^2 = \partial^2 / \partial r^2 + \partial / r \partial r$$

$$()$$

$$:$$

:

$$\varepsilon_{rr} = \frac{\partial u}{\partial r}, \varepsilon_{\theta\theta} = \frac{u}{r}, \varepsilon_{zz} = \frac{\partial w}{\partial z}, 2\varepsilon_{rz} = \frac{\partial u}{\partial z} + \frac{\partial w}{\partial r}$$

$$()$$

$$\left[\nabla_1^2 \nabla_2^2 - \delta \frac{\partial^4}{\partial z^2 \partial t^2} \right] F(r, z, t) = \frac{-1}{\alpha_2 (1 + \alpha_1)} \frac{b_z(r, z, t)}{C_{1212}}$$

$$(i, j = r, \theta, z) \quad \varepsilon_{ij}(r, z, t) \quad () \quad ()$$

$$+ \frac{1}{\alpha_2 \alpha_3 C_{1111}} \left(\nabla_r^2 + \frac{C_{3333}}{C_{1212}} \frac{\partial^2}{\partial z^2} + \frac{\rho}{C_{1212}} \frac{\partial^2}{\partial t^2} \right) \Theta(r, z, t).$$

$$C_{ijkl}$$

$$()$$

$$() ()$$

$$\nabla_\alpha^2 = \nabla_r^2 + \frac{\partial^2}{s_\alpha^2 \partial z^2} - \frac{\partial^2}{c_\alpha^2 \partial t^2}, \quad (\alpha = 1, 2)$$

$$c_2^2 = \frac{C_{1313}}{\rho}, c_1^2 = \frac{C_{1111}}{\rho},$$

$$s_\alpha^2 \quad (\alpha = 1, 2)$$

$$(1 + \alpha_1) C_{1212} \left(\frac{\partial^2 u}{\partial r^2} + \frac{1}{r} \frac{\partial u}{\partial r} - \frac{u}{r^2} \right) + \alpha_2 C_{1212} \frac{\partial^2 u}{\partial z^2}$$

$$+ (C_{1133} + \alpha_2 C_{1212}) \frac{\partial^2 w}{\partial r \partial z} + b_r = \rho \frac{\partial^2 u}{\partial t^2},$$

$$\alpha_2 C_{1212} \left(\frac{\partial^2 w}{\partial r^2} + \frac{1}{r} \frac{\partial w}{\partial r} \right) + C_{3333} \frac{\partial^2 w}{\partial z^2}$$

$$+ (C_{1133} + \alpha_2 C_{1212}) \left(\frac{\partial^2 u}{\partial r \partial z} + \frac{1}{r} \frac{\partial u}{\partial z} \right) + b_z = \rho \frac{\partial^2 w}{\partial t^2}$$

$$()$$

$$C_{3333} C_{1313} s^4 + (C_{1133}^2 + 2C_{1133} C_{1313} - C_{1111} C_{3333}) s^2 + C_{1111} C_{1313} = 0$$

$$()$$

() []

() - ()

: Θ F

$$\varepsilon_{rr} = -\alpha_3 \frac{\partial^3 F}{\partial r^2 \partial z},$$

$$\varepsilon_{\theta\theta} = -\frac{\alpha_3}{r} \frac{\partial^2 F}{\partial r \partial z},$$

$$\varepsilon_{zz} = \frac{\partial}{\partial z} \left[\alpha_2 \frac{\partial^2}{\partial z^2} + (1 + \alpha_1) \nabla_r^2 - \frac{\rho}{C_{1212}} \frac{\partial^2}{\partial t^2} \right] F - \frac{1}{\alpha_3 C_{1212}} \frac{\partial \Theta}{\partial z},$$

$$\varepsilon_{rz} = -\frac{1}{2} \alpha_3 \frac{\partial^3 F}{\partial r \partial z^2} + \frac{1}{2} \left(\alpha_2 \frac{\partial^3}{\partial r \partial z^2} + (1 + \alpha_1) \frac{\partial}{\partial r} \nabla_r^2 - \frac{\rho}{C_{1212}} \frac{\partial^3}{\partial r \partial t^2} \right) F - \frac{1}{2} \frac{1}{\alpha_3 C_{1212}} \frac{\partial \Theta}{\partial r},$$

()

$$\sigma_{rr} = -\alpha_3 \frac{\partial}{\partial z} \left(C_{1111} \frac{\partial^2}{\partial r^2} + C_{1122} \frac{1}{r} \frac{\partial}{\partial r} \right) F + C_{1133} \frac{\partial}{\partial z} \left((1 + \alpha_1) \nabla_r^2 + \alpha_2 \frac{\partial^2}{\partial z^2} - \frac{\rho}{C_{1212}} \frac{\partial^2}{\partial t^2} \right) F - \frac{C_{1133}}{\alpha_3 C_{1212}} \frac{\partial \Theta}{\partial z},$$

$$\sigma_{\theta\theta} = -\alpha_3 \frac{\partial}{\partial z} \left(C_{1122} \frac{\partial^2}{\partial r^2} + C_{1111} \frac{1}{r} \frac{\partial}{\partial r} \right) F + C_{1133} \frac{\partial}{\partial z} \left((1 + \alpha_1) \nabla_r^2 + \alpha_2 \frac{\partial^2}{\partial z^2} - \frac{\rho}{C_{1212}} \frac{\partial^2}{\partial t^2} \right) F - \frac{C_{1133}}{\alpha_3 C_{1212}} \frac{\partial \Theta}{\partial z},$$

$$\sigma_{zz} = \frac{\partial}{\partial z} \left[(C_{3333} (1 + \alpha_1) - \alpha_3 C_{1133}) \nabla_r^2 \right] F + \frac{\partial}{\partial z} \left[\alpha_2 \frac{\partial^2}{\partial z^2} - \frac{\rho}{C_{1212}} \frac{\partial^2}{\partial t^2} \right] F - \frac{C_{3333}}{\alpha_3 C_{1212}} \frac{\partial \Theta}{\partial z},$$

$$\sigma_{rz} = C_{1313} \frac{\partial}{\partial r} \left[(1 + \alpha_1) \nabla_r^2 + (\alpha_2 - \alpha_3) \frac{\partial^2}{\partial z^2} \right] F - C_{1313} \frac{\partial}{\partial r} \left[\frac{\rho}{C_{1212}} \frac{\partial^2}{\partial t^2} \right] F - \frac{C_{1313}}{\alpha_3 C_{1212}} \frac{\partial \Theta}{\partial r}.$$

()

$$C_{1111} = C_{3333} = 2\mu + \lambda,$$

$$C_{1122} = C_{1133} = \lambda,$$

$$C_{1212} = C_{1313} = \mu,$$

()

$$\delta = (1 - 1/s_2^2)/c_1^2 + (C_{3333}/C_{1111} - 1/s_1^2)/c_2^2$$

$$\underline{e}_z \cdot \text{curl}[u, 0, w]^T = 0 \quad ()$$

$$z \quad \underline{e}_z \quad \cdot \quad T$$

()

z

B

[]

$$b_r(r, z, t)$$

B

$$b_z(r, z, t)$$

$$w(r, z, t) \quad u(r, z, t)$$

$$(0, t_0)$$

$$\Theta(r, z, t)$$

()

$$F(r, z, t, \delta)$$

$$(0, t_0)$$

B

$$\Theta(r, z, t)$$

t z, r

$$(0, t_0)$$

B

$$F(r, z, t, \delta)$$

t z, r

$$w \quad u$$

δ

$$F$$

)

()

$$\Theta \quad F$$

$$F(r, z, t)$$

$$F(r, z, t, \delta)$$

()

$$() ()$$

$$F \quad \Theta$$

()

$$\Theta(r, z, t)$$

:

:

$$\Theta$$

$$\Theta(r, z, t) = \iint b_r(r, z, t) dr dz, \quad r \geq 0, \quad r, z \in B$$

()

$$w \quad u$$

$$F \quad \Theta$$

$$F$$

()

()

:

t r z

$$\Theta$$

F

$$(0, t_0) \quad B$$

$$F$$

()

()

()

$$\delta$$

$$\begin{aligned}\sigma_{rr} &= \frac{\partial}{\partial z} \left(-(\lambda+2\mu) \frac{\partial^2}{\partial r^2} + \lambda \frac{1}{r} \frac{\partial}{\partial r} \right) F \\ &\quad + \lambda \frac{\partial}{\partial z} \left(\frac{\partial^2}{\partial z^2} - \frac{\rho}{\mu} \frac{\partial^2}{\partial t^2} \right) F - \frac{\lambda}{\lambda+\mu} \frac{\partial \Theta}{\partial z}, \\ \sigma_{\theta\theta} &= \frac{\partial}{\partial z} \left(\lambda \frac{\partial^2}{\partial r^2} - (\lambda+2\mu) \frac{1}{r} \frac{\partial}{\partial r} \right) F \\ &\quad + \lambda \frac{\partial}{\partial z} \left(\frac{\partial^2}{\partial z^2} - \frac{\rho}{\mu} \frac{\partial^2}{\partial t^2} \right) F - \frac{\lambda}{\lambda+\mu} \frac{\partial \Theta}{\partial z}, \\ \sigma_{zz} &= \frac{\partial}{\partial z} \left[(3\lambda+4\mu) \nabla_r^2 + \frac{\partial^2}{\partial z^2} - \frac{\rho}{\mu} \frac{\partial^2}{\partial t^2} \right] F \\ &\quad - \frac{\lambda+2\mu}{\lambda+\mu} \frac{\partial \Theta}{\partial z}, \\ \sigma_{rz} &= \mu \frac{\partial}{\partial r} \left(\frac{\lambda+2\mu}{\mu} \nabla_r^2 - \frac{\lambda}{\mu} \frac{\partial^2}{\partial z^2} - \frac{\rho}{\mu} \frac{\partial^2}{\partial t^2} \right) F \\ &\quad - \frac{1}{\lambda+\mu} \frac{\partial \Theta}{\partial r}.\end{aligned}$$

$$\begin{aligned}u(r,z) &= -\alpha_3 \frac{\partial^2 F}{\partial r \partial z}, \\ w(r,z) &= (1+\alpha_1) \left(\nabla_r^2 + \frac{\alpha_2}{1+\alpha_1} \frac{\partial^2}{\partial z^2} \right) F \\ &\quad - \frac{1}{\alpha_3 C_{1212}} \Theta.\end{aligned}$$

$$\frac{\partial^2 \Theta(r,z)}{\partial r \partial z} = b_r(r,z), \quad ()$$

$$\begin{aligned}\nabla_{1s}^2 \nabla_{2s}^2 F(r,z) &= \frac{-1}{\alpha_2(1+\alpha_1)} \frac{b_z(r,z)}{C_{1212}} \\ &\quad + \frac{1}{\alpha_2 \alpha_3 C_{1111}} \left(\nabla_r^2 + \frac{C_{3333}}{C_{1212}} \frac{\partial^2}{\partial z^2} \right) \Theta(r,z), \\ \alpha &= 1, 2 \quad \nabla_{\alpha s}^2 \\ &\quad \nabla_r^2 + \frac{\partial^2}{s_\alpha^2 \partial z^2}\end{aligned}$$

[3, Claim4]

$$\begin{aligned}\mu &\quad \lambda \\ &\quad : \quad () \\ \alpha_1 = \alpha_3 &= \frac{\lambda+\mu}{\mu}, \quad \alpha_2 = 1, \quad s_0^2 = s_1^2 = s_2^2 = 1, \\ \delta &= 0.\end{aligned}$$

$$\begin{aligned}c_1^2 &= \frac{\lambda+2\mu}{\rho}, \quad c_2^2 = \frac{\mu}{\rho}.\end{aligned}$$

$$\begin{aligned}u(r,z,t) &= -\frac{\lambda+\mu}{\mu} \frac{\partial^2 F(r,z,t)}{\partial r \partial z}, \\ w(r,z,t) &= \frac{\lambda+2\mu}{\mu} \\ &\quad \times \left(\nabla_r^2 + \frac{\mu}{\lambda+2\mu} \frac{\partial^2}{\partial z^2} - \frac{\rho}{\lambda+2\mu} \frac{\partial^2}{\partial t^2} \right) F(r,z,t) \\ &\quad - \frac{1}{\lambda+\mu} \Theta(r,z,t),\end{aligned}$$

$$\begin{aligned}& : \quad F(r,z,t) \\ \nabla_1^2 \nabla_2^2 F(r,z,t) &= \frac{-1}{\lambda+2\mu} b_z(r,z,t) \\ &\quad + \frac{\mu}{(\lambda+2\mu)(\lambda+\mu)} \left(\nabla_r^2 + \frac{\lambda+2\mu}{\mu} \frac{\partial^2}{\partial z^2} + \frac{\rho}{\mu} \frac{\partial^2}{\partial t^2} \right) \Theta(r,z,t)\end{aligned}$$

$$\begin{aligned}\nabla_\alpha^2 &\quad \alpha = 1, 2 \\ \nabla^2 &\quad \nabla^2 - \partial^2 / (c_\alpha^2 \partial t^2) \\ \Theta &\quad \Theta.\end{aligned}$$

$$\begin{aligned}\varepsilon_{rr} &= -\frac{\lambda+\mu}{\mu} \frac{\partial^3 F}{\partial r^2 \partial z}, \\ \varepsilon_{\theta\theta} &= -\frac{\lambda+\mu}{\mu} \frac{1}{r} \frac{\partial^2 F}{\partial r \partial z}, \\ \varepsilon_{zz} &= \frac{\partial}{\partial z} \left[\frac{\partial^2}{\partial z^2} + \frac{\lambda+2\mu}{\mu} \nabla_r^2 - \frac{\rho}{\mu} \frac{\partial^2}{\partial t^2} \right] F - \frac{1}{\lambda+\mu} \frac{\partial \Theta}{\partial z}, \\ \varepsilon_{rz} &= -\frac{\lambda+\mu}{2\mu} \frac{\partial^3 F}{\partial r \partial z^2} \\ &\quad + \frac{1}{2} \left(\frac{\partial^3}{\partial r \partial z^2} + \frac{\lambda+2\mu}{\mu} \frac{\partial}{\partial r} \nabla_r^2 - \frac{\rho}{\mu} \frac{\partial^3}{\partial r \partial t^2} \right) F \\ &\quad - \frac{1}{2(\lambda+\mu)} \frac{\partial \Theta}{\partial r},\end{aligned}$$

()

F

() ()

$$(1-2\nu)(1+\nu)F_{Love}/E$$

[] Simmonds

F_{Love}

$F(r,z)$

ΘF

$\Theta(r,z,t) F(r,z,t)$

() () $\Theta(r,z)$

[]

() () ()

:

([] -)

$$u(r,z) = -\frac{\lambda + \mu}{\mu} \frac{\partial^2 F}{\partial r \partial z},$$

$$w(r,z) = \frac{\lambda + 2\mu}{\mu} (\nabla_r^2 + \frac{\mu}{\lambda + 2\mu} \frac{\partial^2}{\partial z^2}) F - \frac{1}{\lambda + \mu} \Theta.$$

[]

)

()

(

$\Theta(r,z) F(r,z)$

[]

: () ()

[]

[]

$$\frac{\partial^2 \Theta(r,z)}{\partial r \partial z} = b_r(r,z)$$

()

$$\nabla^2 \nabla^2 F(r,z) = \frac{-1}{\lambda + 2\mu} b_z(r,z)$$

$$+ \frac{\mu}{(\lambda + 2\mu)(\lambda + \mu)} (\nabla_r^2 + \frac{\lambda + 2\mu}{\mu} \frac{\partial^2}{\partial z^2}) \Theta(r,z),$$

()

∇^2

()

()

() ()

()

Simmonds

$\nu E \quad \mu \lambda$

$$E/2(1+\nu) \quad \nu E/(1+\nu)(1-2\nu)$$

:

$$u(r,z) = -\frac{1}{(1-2\nu)} \frac{\partial^2 F}{\partial r \partial z},$$

$$w(r,z) = \frac{2(1-\nu)}{(1-2\nu)} \nabla_r^2 F + \frac{\partial^2 F}{\partial z^2} - \frac{2(1+\nu)(1-2\nu)}{E} \Theta.$$

()

$$\nabla^2 \nabla^2 F(r,z) = \frac{-(1+\nu)(1-2\nu)}{E(1-\nu)} b_z(r,z)$$

$$+ \frac{(1+\nu)(1-2\nu)^2}{E(1-\nu)} (\nabla_r^2 + \frac{2(1-\nu)}{(1-2\nu)} \frac{\partial^2}{\partial z^2}) \Theta(r,z),$$

[]

()

...

- 1 - Elliott, H. A. (1948). "Three dimensional stress distribution in hexagonal aeolotropic crystals." *Proc. Camb. Phil. Soc.*, Vol. 44, PP. 522-533.
- 2 - Eskandari-Ghadi, M. (2005). "A complete solution of the wave equations for transversely isotropic media." *Journal of Elasticity*, Vol. 81, PP.1-19.
- 3 - Eskandari-Ghadi, M. and Pak, R. Y. S. (2006). *Elastodynamics and Elastostatics by a Unified Method of Potentials*, Submitted to the Journal of Elasticity on June.
- 4 - Eubanks, R. A. and Sternberg, E. (1954). "On the axisymmetric problem of elasticity theory for a medium with transverse isotropy." *Journal of Rational Mechanics and Analysis*, Vol. 3, PP. 89-101.
- 5 - Gurtin, M. E. (1972). "The linear theory of elasticity." In S. Flügge (ed.), *Handbuch der Physik*, Vol. Via/2, Mechanics of Solids II, ed C. Truesdell, PP. 1-295. Springer, Berlin.
- 6 - Hu, H. C. (1953). "On the three dimensional problems of the theory of elasticity of a transversely isotropic body." *Sci., Sinica*, Vol. 2, PP. 145-151.
- 7 - Kellogg, O. D. (1953). *Foundation of Potential Theory*, Dover Publications Inc.
- 8 - Lekhnitskii, S. G.(1981). *Theory of Elasticity of an Anisotropic Body*, Mir, Moscow .
- 9 - Love, A. E. H. (1944). *A treatise on the mathematical theory of elasticity*, New York, Dover Publications.
- 10 - Michell, J. H. (1900). "The stress in an aeolotropic elastic solid with an infinite plane boundary." *Proceeding of the London Mathematical Society*, Vol. 32, PP. 247-258.
- 11 - Nowacki, W. (1954). "The stress function in three dimensional problems concerning an elastic body characterized by transversely isotropy." *Bull. Acad. Polon. Sci.*, Vol. 2, PP. 21-25.
- 12 - Rahimian, M., Eskandari-Ghadi, M., Pak, R. Y. S. and Khojasteh, A. (2007). "An elastodynamic potential method for a transversely isotropic solid." *ASCE Mech. Dev.* (in press).
- 13 - Rajapakse, R. K. N. D. and Wang, Y. (1993). "Greens functions for transversely isotropic elastic half-space." *J. Eng. Mech.*, Vol. 119, No. 9, PP. 1724-1746.
- 14 - Simmonds, J. G. (2000). "Love's stress function for torsionless axisymmetric deformation of elastically isotropic bodies with body forces." *Journal of Applied Mechanics*, Vol. 67, PP. 628-629.
- 15 - Sternberg, E. (1960). "On the integration of the equation of motion in the classical theory of elasticity." *Arch. Ration. Mech. Anal.*, Vol. 6, PP. 34-50.
- 16 - Sternberg, E. and Eubanks, R. A. (1957). "On stress functions for elastokinetics and the integration of the repeated wave equation." *Quarterly of Applied Mathematics*, Vol. 15, PP. 149-153.
- 17 - Sternberg, E. and Gurtin, M. E. (1962). "On the completeness of certain stress functions in the linear theory of elasticity." *Proc. Forth U.S. Nat. Cong. Appl. Mech.*, PP. 793-797.
- 18 - Stippes, M. (1962). "Completeness of papkovich potentials." *Quarterly of Applied Mathematics*, Vol. 26, PP. 477-483.

-
- 19 - Truesdell, C. (1959). "Invariant and complete stress functions for general continua." *Arch. Ration. Mech. Anal.*, Vol. 4, PP. 1-29.
- 20 - Wang, M. Z. and Wang, W. (1995). "Completeness and nonuniqueness of general solutions of transversely isotropic elasticity." *Int. J. Solids Struct.*, Vol. 32 No. 374, PP. 501-513.

- 1 - Anisotropic
2 - Transversely isotropic